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1. Budget is presented in : 1. ol H¥d fopam T @

(A) Lok Sabha A Aepae §
(B)  Rajya Sabha B)  ToHEW H
(C)  Both (A)and (B) (C) I (A) T (B)
D) None of the above D) ST & | g ol
2. Budget is: 2. R
(A) Pivot of financial administration (A) forditg gsmas @t 3’&
(B)  Linkage of financial administration B)  foi uemEs @ FE
© Indicator of fiscal policy ©) fodg ifq @ SCED
D) Means of economic planning D) MR RS 1 e
3. In which of the following budget year CENVAT 3. wXd H CENVAT JiS=T g gy
scheme was declared and implemented in % o ¥ Aiffg X @mEit~ad
India? 7
(A)  1990-1991 (A)  1990-1991
(B) 1999-2000 (B) 1999 - 2000
©) 2000-2001 ©) 2000 - 2001
D) 2004-2005 (D) 2004-2005
4. Deficit financing should be done in: 4, B TEE B AR
(A) Recession period (A) Ha P |
(B)  Boom period B) oo Hw A
(C)  Both (A)and (B) (C) I (A) T (B)
D) None of the above D) ST & | B el
5, The period of financial year in India is: 5. qxq # foxig a¥ & orafy © -
(A)  from 1st April to 31st March A 130d ¥ 3 A T
(B)  from 1st March to 28th February B) 1™ ¥ 28 ®aQ d®
© from 1st January to 31st December ©) 199ad 9 31 REwR 7%
D) None of the above D) SRIET & € 5 el
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6. How many member countries are there in 6.
World Bank?
(A) 182
(B) 189
©) 165
D) 145

7. India is a member of : 1.
(A World Bank

B
(®
D) All of the above

)
) International Monetary Fund
)

World Trade Organisation

8. Which are the main agreements of WTO? 8.
(A)  TRIMSand TRIPS
(B) Economic and monetary
(©) Copyright and Trademark
D) None of the above

9. 'Uruguay Round' conference resulted in the 9.
establishment of which of the following?

(A)  NATO
(B)  OECD
(€  WHO
(O)  WTO
10. Who issues the Special Drawing Right  10.
(SDR)?
(A) World Bank
(B) International Monetary Fund
(C) World Trade Organisation
D) Asian Development Bank
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1. World Bank is known as :
(A) International Reconstruction and
Development Bank
(B) International Monetary Fund
(©) World Trade Organisation
D) World Health Organisation
12. Which of the following currency has largest
weightage in the determination of the value
of SDR?
(A) American Dollar
(B) Japanese Yen
(C) Euro
D) Indian Rupee
13. Who is the 189th member of World Bank?
(A) Afghanistan
(B) Nizeria
€ The Republican of Nauru
D) None of the above
14. Who is President of World Bank at present?
(A) David Robert Malpass
(B) Anshula Kant
(C) Kristalina Georgieva
D) None of the above
15. The objectives of International Monetary
Fund are:
(A) Creation of monetary co-operation
(B) Exchange stability
©) Multilateral payments
(D) All of the above
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16.

17.

18.

19.

20.

Commercial banks are divided in categories:  16.

) Scheduled banks

) Non-scheduled banks
) Both (A) and (B)
)

None of the above

Credit multiplier or bank deposit multiplier is: ~ 17.

(A) .

r
(B) Lz

r

1V

o )
o -l
The word 'Budget' derivated from: 18.
(A) German
(B) French
€ English
D) None of the above
The budget may be classifies as: 19.
(A) Balanced budget
(B) Deficit budget
(@) Surplus budget
(D) All of the above
The objectives of a budget are: 20.
A Accountability

)

) A tool of fiscal policy

) Basis of public welfare
)

All of the above
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21. How many countries are members in WTO
upto July 20167
(A) 149
(B) 159
©) 164
D) 174
22. Which of the following institution is not a part
of World Bank?
A) Intemational Development Association
(B) International Finance Corporation
©) World Trade Organisation
D) None of the above
23. Which country has joined WTO
recently?
(A) Australia
(B) Afghanistan
€ Iran
D) China
24. When did India join WTO?
(A) 1st January, 1995
(B) 1st January, 1996
©) 1st January, 1997
D) 1st January, 1998
25. The World Bank assists its member
countries:
(A) Political and Social
(B) Political and Technical
(@) Financial assistance
D) None of the above
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26.

27.

28.

29.

30.

'The IMF is a revolving fund' This statement ~ 26.

is of:

(A) Kristein Leguard
(B) Dominique Strauss
(©) P. Jacobson

D) None of the above

If the balance of payment of a country is ~ 27.

adverse, then which of the following
institution will help that country?

A) World Bank
D

ve]

(
(B) Asian Development Bank
(@) World Trade Organisation
(D)

International Monetary Fund

190th member country of IMF is: 28.
(A) France

(B) Spain

(C) Andorra

D) Nizeria

The writer is 'The Theory of Economic ~ 29.

Development':

(A) J.A. Schumpeter
(B) A. Marshall

©) Karl Marx

D) J.E. Mead

Who presents the Union budget in  30.

India?

A) Prime Minister

o

Finance Minister

O

D President

(
(
(
(

)
) State Finance Minister
)
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31. GATT was replaced by which institution?
(A) IBRD
(B) WHO
©) WTO
D) UNDP

32. Which of the following is subsidiary of World
Bank?
A) Intemational Development Association
(B) International Finance Corporation
© Muttiateral Investment Guarantee Agency
(D) All of the above

33. The headquarter of International Monetary
Fund is situated in:
(A) Manila
(B) Dubai
(9] Berlin
D) Washington D.C.

34. In which year, World Bank was established?
(A) July, 1940
B) July, 1944
©) June, 1945
D) July, 1950

35. Which is known as 'soft window' of World
Bank?
(A) International Finance Corporation
B) Intemational Development Association
(@) Multilateral Investment Guarantee

Agency
D) International Reconstruction and
Development Bank
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36. WTO stands for:
(A) World Tour Organisation
(B) World Tour Office
©) World Travel Organisation
D) World Trade Organisation
37. Which of the following categories for
agricultural subsidies comes under W.T.0.?
(A) Green box
(B) Red box
©) Amber box
D) None of the above
38. Which of the following is the main objective
behind the establishment of World Trade
Organisation?
(A) to settle dispute between nations
(B) to widen the sectors such as
services and agriculture under the
principle of free trade
(C) To cover more areas than GATT
(D) All of the above
39. Where is the headquarter of World Trade
Organisation located?
(A) Paris
(B) New York
(@) Chicago
D) Geneva
40. When WTO was established?
(A) 1st January 1995
(B) 1st March 1995
(@) 1st January 1994
D) 1st March 1994
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41. A book 'The Accumulation of Capital' is  41.
written by:
(A) Smt. John Robinson
(B) Solow
(©) J.E. Mead
(D) Adam Smith
42. According to the Mrs. Robinson model of ~ 42.
growth, the factors of production in economy
are:
(A) Capital
(B) Labour
©) Both (A) and (B)
D) None of the above
43. Main characteristics of Schumpeter theory ~ 43.
are:
(A) Importance of entrepreneur
(B) Innovation and new techniques
© Qualitative development of population
D) All of the above
44, In advanced countries in order to achieve fall ~ 44.
employment, it is necessary to depend upon:
(A) Budget
(B) Revenue
©) Deficit financing
D) Borrowing
45, The evils of deficit financing are: 45.
(A) Rise in prices
(B) Increase in money- supply
©) Adverse effects on saving
D) All of the above
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46. The difference between total revenue receipts ~ 46.
and total revenue expenditure is called:
(A) Revenue deficit
(B) Budgetary deficit
(@) Primary deficit
D) Fiscal deficit
47. Deficit financing is appropriate in following ~ 47.
conditions:
(A) during recession period
(B) for economic development
(@) during war period
(D) All of the above
48. Budgets are prepared on the basis of: 48.
(A) Bi-annual
(B) Annual
€ Monthly
D) None of the above
49, In normal period budget is presented as: 49,
(A) Balanced budget
(B) Surplus budget
€ Deficit budget
(D) Interim budget
50. SDR is meant: 50.
(A) Special Deposit Ratio
(B) Statutory Deposit Ratio
€ Special Drawing Right
D) Statutory Drawing Right
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51 The macro economic policy of India comprises:  51.
(A) Liberalisation
(B) Privatisation
©) Globalisation
D) All of the above
52. The theory of business cycle by Samuelson  52.
is based on:
(A) The interactions of multiplier and
acceleration
(B) Periodic updowns of income,
production and employment
©) Circular flow of money
D) Circular flow of goods and services
53. The phases of trade cycle are: 93.
(A) Recovery - prosperity - recession-
depression
(B) Prosperity - depression -
recession-recovery
©) Depression - recession - recovery
- prosperity
D) Recession - prosperity - recovery -
depression
o4, The measures to control trade cycles is/are:  54.
(A) Monetary policy
(B) Fiscal policy
©) Price control and Rationing policy
D) All of the above
95. The causes of economic fluctuations are: 95.
(A) Seasonal fluctuations
(B) Regular fluctuations
(C) Cyclical fluctuations
D) All of the above
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96. According to Karl Marx the rate of
exploitation of labour:
(A) SIV
(B) VIS
©) CN
D) VIC
57. On which main component the classical
model of economic development rests:
(A) Laissez faire policy
(B) Capital accumulation
©) Both (A) and (B)
D) None of the above
58. 'Das Capital' is written by:
(A) Alfred Marshal
(B) P.A. Samuelson
€ Adam Smith
D) Karl Marx
99. Balanced Growth means that:
(A) All the sectors of economy will
expand in the same proportion
(B) All markets of the economy will
expand in the same proportion
(C) All industries of the economy will
develop themselves in harmonious
manner
D) None of the above
60. Economic growth is the:
(A) Growth of physical resources
(B) Growth of financial resources
(C) Growth of monetary resources
D) Growth rate of national income of
an economy per year
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61. There have been three great inventions  61.
since the begining of time: the fire, the wheel
and central banking.' This statement is of:
(A) Kent
(B) Crowther
€ Bill Rogers
D) Shaw
62. Which bank was established in India  62.
according to the recommendations of Hilton
Young commission?
(A) State Bank of India
(B) Commercial Banks
©) Reserve Bank of India
D) Co-operative Banks
63. 'The creation of derivative deposits is  63.
identical with what is commonly called the
creation of credit." This statement is of:
(A) Walter Leaf
(B) G.N. Halm
€ Cannan
D) Hartley Withers
64.  InIndia, nationalization of 14 big banks was ~ 64.
done in:
(A) 1969 B) 1965
© 1991 D) 2004
05. The characteristics of a good banking system are: 65.
(A) Favourable to a economic
conditions of a country
(B) Proper co-ordination in banking
administration
(C) Skilled arrangement of clearing and
remittance of money
D) All of the above
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66. Which type of letter of creditis used in foreign
trade?
(A) Bank- draft
(B) Promissory note
() Letter of credit
D) Book- credit
67. Which of the following is not negotiable
cheque?
(A) Bearer cheque
(B) Order cheque
() Cross cheque
D) Both order and cross cheque
68. "Loans make deposits and the initiative of
creating them goes to the banks." This
definition is of:
(A) Hartley Withers
(B) Hawtrey
(9] G.N. Halm
D) Defoe
69. Qualitative credit control consists:
(A) Rationing of credit
(B) Consumer's credit control
(9] Moral suasion
D) All of the above
70. What are the main sources of income of
commercial banks?
(A) Deposits
(B) Loans
(9] Reserve funds
D) All of the above
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7. What gets changed in the process of  71.
economic growth?
(A) Structure of the economy
(B) Mentality of the people
(@) Natural resources
D) None of the above
72. In which growth model the decision of  72.
entrepreneur is the most important?
(A) Growth model of A.C. Pigou
(B) Growth model of Alfred Marshal
©) Growth model of Schumpeter
D) Growth model of J.M. Keynes
73. Macro economic policy comprises : 73.
(A) Fiscal policy
(B) Monetary policy
©) International trade policy
D) All of the above
74. Business cycle involve: 74.
(A) Cyclical variations in economic
activities
(B) Long-term variations in economic
activities
©) Random variations in economic
activities
D) Seasonal variations in economic
activities
75. 'Trade cycles are purely monetary 75.
phenomenon'. This statement is of:
(A) F.A. Hayek
(B) P.A. Samuelson
©) R.G. Hawtrey
D) A.H. Hanson
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76. Which method is more flexible in credit-
control?
(A) Bank-rate policy
(B) Open - market operations
(@) Variations in the cash reserve ratio
D) Selective credit-control
7. "From the viewpoint of credit control, open
market operations are complementary to
discount policy". This statement is of:
(A) G.M. Halm
(B) Clark
(C) Robertson
D) D. Cock
78. The writer of a book 'A Treatise of Money' is:
(A) J.M. Keynes
(B) Hawtrey
©) D. Cock
D) Robertson
79. Reserve Bank of India was established in:
(A) 1921
(B) 1931
©) 1935
D) 1948
80. The main functions of R.B.I. are:
(A) Issue of paper money
(B) Control of credit
(@) Regulation of Banking
(D) All of the above
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81. In the context of trade cycles the term'animal ~ 81.
spirits' was firstly used by:
(A) J.M. Keynes
(B) Roy Harrod
©) Alfred marshal
D) Milton Friedman
82. In which century the development of modern ~ 82.
banking becomes in India?
(A) Sixteenth
(B) Seventeenth
©) Eighteenth
D) Nineteenth
83. In which type of accounts we get maximum  83.
interest after depositing money in banks?
(A) Saving account
(B) Current account
©) Recurring account
D) Fixed Deposit account
84. User of which card becomes debtor of  84.
bank?
(A) Credit card
(B) Debit card
€ A.T.M. card
(D) All of the above
85. The objectives of Bank Nationalisation in  85.
India was:
(A) To eliminate centralisation of
economic power
B) To encourage small and rural industries
(C) Adequate development of
agricultural sector
D) All of the above
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86. Which of the following is not a peculiarity of
business cycle?
(A) unemployment changes
(B) Poverty changes
(@) Price-level changes
D) Interest rate changes
87. Which of the following types of business
cycles have the longer duration?
(A) Jugler cycles
(B) Kitchin cycles
(@) Building cycles
D) Kondratief cycles
88. A recession means:
(A) Output of an economy is declining
for more than two quarters
(B) Output of an economy is declining
continuously
©) Increase in output
D) None of the above
89. The propounder of over-investment theory
of trade cycle is:
(A) R.C. Hawtrey
(B) F.A. Hayek
©) J.M. Keynes
D) P.A. Samuelson
90. A book 'Contribution to The Theory of Trade
Cycle" is written by:
(A) J.R. Hicks
(B) J.M. Keynes
) F.A. Hayek
D) P.A. Samuelson
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91. State Bank of India is established in: 91.
(A) 1935
(B) 1949
©) 1955
D) 1950
92. What is the exact date of evolving Banking ~ 92.
Lokpal Scheme by RB.I. ?
(A) 15 June, 1991
(B) 15 June, 1994
©) 15 June, 1995
D) 15 July, 1985
93. The oldest bank in the following is : 93.
(A) Bank of Japan
(B) Bank of England
(@) Reserve Bank of India
D) Federal Reserve System of
America
94. To create credit in maximum quantity by ~ 94.
bank, is necessary:
A) More payments should be done in cash
(B) Maximum reserve fund in banks
€ More quantity of primary deposit
D) Less quantity of currency
95. Author of 'An Outline of Money' is: 95.
(A) J.M. Keynes
(B) Robertson
©) Crowther
D) Marshal
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96. A method of note issue in Reserve Bank is:
(A) Proportional Reserve system
(B) Minimum Reserve system
(C)  Both (A) and (B)
D) None of the above
97. 'Highly Powered Money' according to RBI
denotes:
(A) Currency with public
(B) Deposits of commercial and
co-operative banks in RBI
©) Cash of these banks + other
deposits of RBI
(D) All of the above
98. Who determines the bank rate?
(A) Government of India
(B) Commercial Banks
(@) Reserve Bank of India
D) None of the above
99. Which of the following is the quantitative
measure of credit-control?
(A) Variable reserve ratio
(B) Moral suasion
©) Credit Rationing
D) Direct Action
100.  The objectives of credit control are:
(A) to maintain economic stability
(B) to increase economic development
© to achieve the goal of full employment
D) All of the above
1012-B/790

96.

97.

98.

99.

100.

(22)

e &% & Fie-Friee & s

(A) SIS B o
(B)  FH H oy

(€) & (A) T (B)

D) SR § § B &l

AR SLAE. & FPEAR I= ST av
&

(A) S % 99 e
(B)  SIX.S1.9TE. & U amvIoush T

TEH St B S

C) @ § BT + AR, B
| 3 S

D)  SUUET |

e T F1 FEReT B FRar &7

(A) WA GBI

(B)  aivT® b

) =@ 9% o e

D) SWE H | B Tl

(A)

B) S & @

(C)  HRE-TLT

D) Sy HEAwR!

qra-ET & 9297 € ¢

A o wnRE SN e @
(B)  oNRi® famE # gie &
€ i WAR & 7&d &l g
D) SR |



Rough Work / 1% E D]

1012-B/790 (23)



Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

10.

11.

galeY
9

N1 @ @ © ©
=2 @ ® O
75w ® @ © ©

U U B 3k UM Bl o e I
el B, Il & AR ik T R S|

gl IR P SMloTHodRo I -Th
(OMR Answer Sheet) & & & o= ¥
ST-T= § OGN & oreEr o

Fe WX fear T SAY 9 TR erm

SMoTHodNo ITX-T%k (OMR Answer
Sheet) W % 1 ferew & 7d 3ad &3 ™
qefl e HEAFIYESs G forr S

e gt & Sukra et e e
H AT OMR Answer Sheet Iqae A
® 9 & TOe B ¥ MR B qemet

AT WY FT-GRIH A S Fhd S
frifeq mfeb & R

F3 A IF B, GE-JREH H, H-FE B
fer fou @l 9 W & e S AR

Q- ¥ SIT-ob, FICY, Jo Rl TG
B & ST O SGH ST BT a2

U & el UG SISl WuraRer § fwar an

A H U H AN WU & 9
BRI

A IR G WO S #%
g & & uegRas & @l U Wi BY
ge &1 AR yeghaw & g w0 @, @
wafdes ® st @ fwds @ gEd

JGRIH M HL J



